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an 4h 13t
4] 16 855+ L\AR(1) JE A 4:57.31
54 23t
5 13| 6882[/h IHZE(3) 2T 5:00. 63
Y
6| 12| 5682 |FHA $4< (3) ZR=d 5:07.19
iy Az
7| 10| 4182 %[ #A8(2) F.K. CATHLETEROAl 5:14.18
Wi ¥ 1t
8| 11| 4184 3K B2 (1) F.K. CATHLETEROAl 5:14.56
#hEh bFE
9 7| 4902|&K #%Q) EUNCEE T 5:14.93
H7Eh #7¥
10 8| 4903|1x%E %) HLEHhRG 5:14.96
#0744
1 6| 4216|#a £35(2) LazoRunningTeam| 5:21.29
v 355
12 4| 3823|5R BEQ) FEF0AL 5:21.91
Y9 4
13 2| 111|#m Ex3 Q) |iIKET$ 5:22.49
MF HHt
14 3| 463317 KB (3) EEH 5:28.46
4% #93
11 103|;B% XZ&= Q) T
A¥hT ¥t DNS
5| 8591\ K& EHR(2) F. K. CATHLETEROAI
i3 //n DNS
9 6911[/hER Biv@3) | KM
Th 493 h3 DNS
17) 1072/#8F ®©1kQ) |[tEH#ES
Y hy 14 DNS




TF
1500m

AL LL—XA
JE{Z[ No. A HRE I mEA L8 = [ 48 |Ig6r Sy TaA L
1 831k &K 1 1) HES 4:48.10 3 1
2| 567|E#E #A D) HES 4:49. 65 3 2 148
3[ 4200[/viE D (2) LazoRuni 4:54.67 3 3 R F N — H-*fFEﬁ
4 8SAH (LB (1) HES 4:57.31 3 4 400m| 10 5082 : 20.
5| 6882[/MIl EiZ=(3) [T 5:00. 63 3 5 800m| 10 5082 2 : 3.
6] 5682[EH #4 (3) ZB= 5:07.19 3 6 1200m| 14 2117 4 32
7] A182|#fE #BHER (2) F. K. CAT 5:14.18 3 1
8| 4184[3rRA [Hic (1) F. (. CAT 5:14.56 3 8
9] 4902|EK #% () EUNCL 5:14.93 3 9 2%8
0] 4903|427 2 (3) EUNCL 5:14.96 3 [ 10 R FN— [Eai]
1] 4207(#% 5+ 1+ (2) LazoRuni 5:18. 66 2 400m| 17 2114 1 20.
2] 4216|888 335 (D LazoRunt 5:21.29 3 800m| 17 2114 2 :47.
3| 3823[= #E®Q) AEF0AE A 5:21.91 3 2 1200m| 17 2114 4 :16.
4 2114|E4 F1Z&= Q) LE=F 5:22.11 2 2
5| 111[#h ERFE(2) L 5:22.49 3113
6] 2113[{E42K EF Q) LEE=F 5:25.08 2 3 34
7] 4206 TF =2 LazoRuni 5:25.29 2 4 BB B FR— B ]
8| 4647|XKH HIEZE (2) SEH 5:26.23 2 5 400m| 18 83| 1:12.
9] 4656[7T™A /Mg (1) SEH 5:27.30 2 6 800m| 18 83| 2:29.
20| 4633|171 ﬂiﬂ@) 2Et 5:28.46 3114 1200m| 18 83| 3:47.
21| 3824[#EL =& (2) AEF0AE A 5:28.60 2 1
22| b15|[FH HEE(2) AL 5:28.63 2 8
23| 4204[pust #bam (2) LazoRuni 5:29. 84 21 9
24 117X\ EREN) JLiEe 5:38.83 1
25| 3441[3RJt #ET (3) gD 5:41.02 2
26] 4212(FZE k(1) LazoRun 5:41.80 3
27| 119[#pmH =<6 0) L 5:44.82 4
28| 2117[#E =F 1) LE=F 5:44. 96 5
29| 3435[hnEk &= Q) 1 5:47.99 2110
30] 104[#rH ##5(3) JLiEe 5:49.08 6
31| 4651(%RE BYUH () =EEH 5:49.39 1
32| 4214[FE B (1) LazoRunt 5:50.29 8
33| 3821[#El BAE (3) RF0itd 5:50. 66 2 1
34] 3825[®A EBE (2 BB 5:51.55 2 2
35| 4648|RE HL b (2) EEH 5:53. 66 2 [ 13
36| 5082[{hE ZERE(2) ElRE 6:00.09 9
37| SIA[RA BFL2EQR) ZREEH 6:02.92 0
38| T44[R ER(2) FREES 6:05.58 2 4
39| 292[#H FTALE) FHREES 6:09.78 1 1
40| 6913[iE:2 FEQ) AP 6:14.26 2115
A1 8232[FJII £33 (1) tefnes 6:16.43 2
42] 3438[FEH YA Q) Rt 6:26.40 3
43| 5685[LL EHI(1) ZE=d 6:37. 61 4
44 3440[IrX FEEEQ) Rt 6:39.93 5
45| 8081[t2f =% (3) ERd 6:45. 88 1 6
6320|4£ < K HAEE (1) LA DNS 1
7571 ﬁiﬁlﬂ %Eﬂ 2 LT DNS 1
3432|/h i FEE () Rt DNS 2
8592 j(ﬁ 52 (1) F. K. CATH DNS 2
107|& = &£ Q) LIRS DNS 2
103[;B% E= Q) JLiE DNS 3
8591 jCE 23 (2) F. K. CATH DNS 3
6O |/hEIR B Q) Wk DNS 3
1072[48F% m&Q) HES DNS 3




TF

3000m

R B
JE]ORD| No. E 4 mEA RER/lEE
1 10| 4635(#&L £F Q) 2EH 10:40. 91
EYv h3
21 1 646|hE DEQ) |EEFkRs 10:48. 88
tht A
3 5 n2@e YuHQa) | FRES 11:10. 71
A3t YY7
4 1| 5742\l &% (3) ZRAS 11:16. 62
1217 3t
5 1 518|M3H* &% (2) tELULFS 11:26. 28
Lh4 Fk
6 8| 4640|FH %% ©0) 2EH 11:30. 28
Wy 134
7 9| 4645\ KR ZYS(2) BEH 11:31.72
13 1%
8 2 45| 8K s (1) teARlZFE 11:49.78
4 Eh 1274
9 6 43|08 EF() ARl ZFE 11:58. 21
Th/ ptna
10 3 46 \lL@A EE (1) tELULFS 12:17.26
Wy Y
4] 1062 7rA =% @) FRES
AEb 13 DNS
XF
5000m
R B
JE]ORD| No. K 4 mE# AiR/ % |
1 1| 1003| K ZE a1z4nm 16:24.02
ThEr 13
Sy TaA L
R Bk F = 10!
400m 1 1003
800m 1 1003] 2:31.
1000m 1 1003
1200m 1 1003 3:50.
1600m 1 1003] 5:10.
2000m 1 1003 6: 31.
2400m 1 1003| 7 :50.
2800m 1 1003] 9:10.
3000m 1 1003] 9 :50.
3200m 1 1003| 10 : 30.
3600m 1 1003 11 :52.
4000m 1 1003 13:12.
4400m 1 1003 14 : 30.
4800m 1 1003] 15: 47

B3 [8A308 [18:10]
Sy TRA L
148 ]
g [ FoN— BE S
400m| 10] 4635 1:18.
800m| 10| 4635] 2: 39.
1000m
1200m| 10| 4635 4: 03.
1600m| 10| 4635 5.3l
2000m| 10| 4635 7:01.
2400m| 10| 4635 8: 32.
2800m| 10| 4635 10: 00.
REE [8B308  [19:40]




